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GUESS PAPER - 2008
Class - IX
SUBJECT – MATHEMATICS
  GENERAL LNSTRUCTIONS:
1. All questions are compulsory.

2. The question paper consists of 30 questions divided intofour sections A, B , c and D

3. Section A contains 10 questions of 1 marks each, Section B is of 5 questions of 2 marks each , Section C is of 10 questions of 3 marks each. and section D contains 5 questions of 6 marks each.  

4. There is no overall choice. However, internal choice has been provided in one question of two marks three questions of three marks and two questions of six marks.
                                                             SECTION-A

1. The ordinate of a point is twice its abscissa and the equation that passes through it is 3x4y=12.Find

     the ordinate and the abscissa.

2. A cone and a hemi- sphere have equal bases. Find ratio of radius and height of the cone.

3. Factorise (2a-1)2-9b4
4. Find the rationalizing factor of 
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5. A card is drawn from a well shuffled pack of cards. Find probability of getting a hearts.
6. Perimeter of an equilateral triangle is 30cm. Find its area 
7. In figure what value of x will make AOBa straight line?
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8. A chord of a circle is equal to its radius. Find an angle subtended by it at minor and major arc.

9. What is the relation between a triangle and a parallelogram on same bases?

10. State remainder theorem.

                                                          SECTION-B

11. If m= 
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and n=
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. Find 5m-8n.
12. In figure ABCDE is a pentagon. A line through B parallel to AC meets DC produced at F Show area(AEDF)=area(ABCDE).
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13. (2, 3) lies on the graph of 2x+
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ya=13. Find ‘b’ if (a, b) and (2, 3) are solutions of 2ax+4by=20
14. ABC is an isosceles triangle with AB=AC. AD bisects exterior angle PAC and CD//AB. Show ABCD a parallelogram.

                                                        [OR]

In an isosceles triangle ABC with AB=AC bisectors of 
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B and 
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C meet at O. Join AO. 

   Show that AO bisects 
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BAC.

15. Some seeds were selected from a few bags and he following data was presented. Find the probability of getting:   a) at least 48 seeds in a bag           b) exactly 50 seeds in a bag
	 BAGS
	        1      
	       2
	       3
	        4
	        5

	Nos of seeds
	       40
	       48
	      42
	      39
	       51


                                                          SECTION-C

16. Construct a ΔABC with base as 7cm and 
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B=75 and sum of other 2 sides is 12cm.

      Write brief steps of construction.

17. Represent 
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on the number line.

18. Draw the graph of equation 2x+3y=6 and find the point where the line meets the axes.
19. Draw a frequency polygon:

	CLASS INTERVALS
	   0-10
	   10-20
	   20-30
	    30-40
	   40-50
	   50-60

	  FREQUENCY
	     18
	    12
	     13
	     17
	     5
	     4


20. Using factor theorem factorize: x3-13x2+32x+20.

21. If
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find x3-
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22. Simplify:  (a+b)3-(a-b)3-6b(a2-b2)    
                             [OR]
      Simplify: 
[image: image15.wmf]223223223

()()()

333

()()()

abbcca

abbcac

-+-+-

++

---


23 From a cylindrical pipe of diameter 7cm, water flows through it at the speed of 72m/hr
     Find the area it can irrigate at the end of 5 seconds.

                                         [OR]
     Volume of a cone is 1232cm3 and its area of base is 154cm2. Find length of canvas if 

      width is 2m.

24. Simplify 
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      [OR] Factorize: (2x-2y)3+(2y-2z)3-2(z-x)3
25. Find the surface area of a shell whose inner radius is 12m and thickness is 6m. Also 

       Find the volume.

                                                         SECTION-D
26. In a triangle line joining mid point of one side of a triangle parallel to other side bisects the third side. Prove it and using the above result Show E the mid point of AD if F 

is mid point of BC and AB, EF, DC are three parallel lines.
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27. Find the values of a and b if remainder 25 is left when x3-ax2+6x+12b is divided by 
      X-2 and a remainder 32 is left when x3+bx2+4x+2 is divided by (x-3).

[image: image17.png]28. Find the total surface area and volume of a cylinder with inner radius 7m and thickness 1.5cm.

                                            [OR]
      Find the total surface area and capacity of it in litres.
 29. An equilateral triangle of radius 21 cm is inscribed in a circle. Find its perimeter and its area.
                                           [OR]
      Show that figure obtained by joining mid points of sides of a square is a square.

30. Find ‘p’ if mean of the data is 40.4. Also find its modal value.

	variable
	   10
	     20
	    30
	     40
	     50
	    60
	   70

	frequency
	   3
	      8
	     12
	      5
	      p
	      7
	   5
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